Question Sheet 32: Choices and Consequences
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Throughout the series, the viewer is reminded of the importance of boys slowing down and considering
the possible consequences of their behaviour before making decisions.

Here are two bad decisions that Lockie makes in the series. You'll no doubt be able to identify many
more.

View the clips Bad decisions and Fancy Dress and answer the following questions in the space
provided.

1 | Why does Egg make a different
choice about cheating on the
Maths test?

2 | What are the consequences for
Lockie of cheating on the test?

3 | When you watch Episode 19,
you'll see that the
consequences of Lockie's
decision to hide in the Streeton
house, ends up in a mini
disaster.

= Why does Lockie decide to
hide?

= Does that seem like a good
idea in retrospect?

= What else could he have
done?




